Chapter 1 - Management Accounting and Corporate Governance

Exercise 1-7A

a.
Payroll costs that would be classified as general, selling, and administrative expense include the following:

	Salary of the company president
	$  128,000

	Salary of the chief financial officer
	75,200

	Salary of the vice president of marketing
	62,400

	Salaries of administrative secretaries
	448,000

	Commissions paid to sales staff
	1,008,000

	                       Total
	$1,721,600

	
	


b.
Payroll costs that would be classified as product cost include the following:

	Salary of the vice president of manufacturing
	$     64,000

	Salary of middle managers in manufacturing plant
	784,000

	Wages of production workers
	3,752,000

	Salaries of engineers and maintenance crew
	712,000

	                       Total
	$5,312,000

	
	


Since 3,600 units of 4,000 finished products were sold, 90% (i.e. 3,600 ÷ 4,000) of the product cost would be classified as cost of goods sold.  Therefore, the payroll cost that would be included in cost of goods sold is determined as follows:

$5,312,000 x 90% = $4,780,800

Exercise 1-12A

a.
The $9,000,000 of research and development cost is an upstream cost while packaging, shipping, and sales commissions are downstream costs.

b.
Cost of goods sold: $26 x 20,000 = $520,000

Ending inventory: $26 x 2,000 = $52,000

c.

	Upstream cost per unit, $9,000,000 ÷ 200,000
	$  45.00

	Manufacturing cost per unit
	26.00

	Downstream costs per unit
	5.00

	Total cost
	76.00

	Plus: 25% profit margin, $76 x 25% 
	19.00

	Price
	$95.00

	
	


d.


	Income Statement

	Sales Revenue ($95 x 20,000)
	$ 1,900,000

	Cost of Goods Sold
	(520,000)

	Gross Margin
	1,380,000

	Research and Development
	(9,000,000)

	Selling Expenses ($5 x 20,000)
	(100,000)

	Net Income (Loss)
	$ (7,720,000)

	
	


e.
The upstream cost of research and development is required by GAAP to be expensed in the period that it is incurred.  However, the R&D is expected to result in overall sales of 200,000 units.  The income statement for 2008 includes the sales of only 20,000 units while recognizing the entire cost of R&D as expense.  In other words, the net loss is only temporary and a result of timing difference.

 Problem 1-19A

The following horizontal financial statements model is not required in the problem.  It is provided to show the process of computation.
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	Equity
	
	Income Statement
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	54,000
	+
	8,400
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	90,000
	+
	400
	
	48,000
	–
	47,600
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	400
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*Record accumulated depreciation as negative amounts under these columns.

Problem 1-19A (continued)

a.

	

	

	Direct materials
	$18,000

	Direct labor
	16,000

	Manufacturing overhead
	8,000*

	Total product cost
	42,000

	
Divided by
	( 5,000

	Average cost per unit
	$8.40

	
	


* Depreciation of manufacturing equipment: 

($28,000 ( $4,000) ( 3 = $8,000

b.
Cost of goods sold:
$8.40 x 4,000 = $33,600

c.
Ending inventory:
$8.40 x (5,000 ( 4,000) = $8,400

d.
$400

e.
$400

f.
$54,000 + $8,400 + $20,000 + $8,000 = $90,400

g.
Net cash flow from operating activities: 

($12,000) + ($16,000) + (18,000) + $48,000 = $2,000

h.
Net cash flow from investing activities:


($10,000) + ($28,000) = ($38,000)

Problem 1-20A

	Event
	
	Assets
	=
	Equity
	
	Income Statement
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	1.
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	+
	
	=
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	–
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FA
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	–
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	3.
	
	(5,300)
	+
	
	+
	
	+
	
	=
	
	+
	(5,300)
	
	
	–
	5,300
	=
	(5,300)
	
	
(5,300)
OA
	

	4.
	
	(6,200)
	+
	6,200
	+
	
	+
	
	=
	
	+
	
	
	
	–
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(6,200)
OA
	

	5a.
	
	(9,600)
	+
	
	+
	
	+
	9,600
	=
	
	+
	
	
	
	–
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(9,600)
IA
	

	5b.
	
	
	+
	
	+
	
	+
	(2,000)
	=
	
	+
	(2,000)
	
	
	–
	2,000
	=
	(2,000)
	
	
	

	6a.
	
	(27,000)
	+
	
	+
	27,000
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	
(27,000)
IA
	

	6b.
	
	
	+
	8,000
	+
	(8,000)
	+
	
	=
	
	+
	
	
	
	–
	
	=
	
	
	
	

	7a.
	
	38,000
	+
	
	+
	
	+
	
	=
	
	+
	38,000
	
	38,000
	–
	
	=
	38,000
	
	
38,000
OA
	

	7b.
	
	
	+
	(20,000)
	+
	
	+
	
	=
	
	+
	(20,000)
	
	
	–
	20,000
	=
	(20,000)
	
	
	

	Total
	
	47,400
	+
	3,700
	+
	19,000
	+
	7,600
	=
	67,000
	+
	10,700
	
	38,000
	–
	27,300
	=
	10,700
	
	
47,400
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


*Record accumulated depreciation as negative amounts under these columns.
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